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, Venn Diagrams

Venn diagrams are

used toshow ways a ol of
of sorting. : nargles
a setof blus # A e A At
AN 1 inn se

not blue and not
a triangle belongs
outside the set rings

, Carroll Diagrams

Carroll diagrams red not red
are another way

of showing how iriangles

things have been it
sorted. triangles

, Sorting Trees
Sort out all the shapes below from a box of geometric
shapes,
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Look at the following table:

Compare your table with someone else. Are they exactly the
same or could they be slightly different?

Nazhé__ . GitlorBoy - Age  Birth Month Eye Colour
Emily Girl 16 December Blue
Kristina Girl 12 November Brown
Jonathon ~_ Boy 14 November Blue

William Boy 11 April Blue-~ 7|
Rachel Girl 15 October | Blue
Emma Girl 13 f_\}lay Brown
Arwen Girl 11 March Brown
Bethan Girl 6 March Brown

| Megan Girl 11 February Blue |
Julie Girl 9 February Blue
Sarah . Girl 8 November Blue
Nathan Boy 8 November : Blue
Joshua Boy 10 January Brown
Ben Boy 7 December Brown

NN AR WN

1 clearly.

Read each sentence and use the table to say whether the
statement is true or false.

1 William has blue eyes.

If you are born in March you have brown eyes.

There are more boys born in November than girls.

The oldest person is a girl with blue eyes.
The youngest person is a boy with brown eyes.
William was born in April.

The youngest boy was born in December.
All eight-year-olds were born in November.

Other ways of sorting help you to see information even more

~
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. Difference between the medians (D
220D E £ HEME : Overall visible spread (OVS)
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